841

2J-209~

POFIST

& m X

Model Table |

Body Parts ‘ Engine Parts ‘
WMEES

84100

PrE




BREOFIAFEHICOWT

157
ZOMHEIEE, LU VO TRRINATET,

mE
REMICII BB, 8L 2ERLTET,

ST HfT
RABNBRICER INTOEIEFR, THEXONEEZLBEORMBERARLTED T,
ZZIZREN-BEBEL BN LTRXRBBICA-TEDETOT, HUKBOREK
ICTCZTEXTEB5 LS BEEOHLET,

WETH
FRETHEMICER AT HFIR. BEZREFOEEN 2T () ©d, @il
Hamd L<i3ley b TOFETHTT,

o
METHICEHENTOBRBEIEI Ty T —BATT, 7. HLAOBZHMLET
SHERELBSDON XA TR HHETTEET T,

% EEEhI3497070 4 Ay MIEEhE T,
@ SBEI13497069 247 VAN Ay by MCE T hE T,
@ IB513497578 ¥+ V- B M B E R T T,

HmBSRIRRO=D, BHETEIZL2Hp0 T, PaflikE LB eLEOEE
' CHERRRR VX T,
(f5)
Part No. List Price Description Dispo. Code
93440 130 Use94712 C

(ZDBAIBMOD IR BEBIXMTI2IZE T I N-Z L 2R L E T, & LI3AA0DTER A
b, ThE2BEELTHERAL, EESZWVIBAUTI2AFHLET,)



PARTS LIST FOR THE YANASE SNOW-THROWER

TIPS FOR USING THIS PARTS LIST

1. STRUCTURE
This Parts List has two sections: Body Parts and Engine Parts.

2. NOTES
General standards, name, etc. are described in this column.

3. ORDER-UNIT
The number listed here indicates the number of individual parts prepackaged together.
Because of the prepackaging, parts must be ordered in multiples of this number. For
example, if the number indicatedis 5, but you want to order 7 units, then you are
requested to order 2 sets of 5 parts or 10 parts.

4. STANDARD PROCESSING TIME
This number indicates the amount of time required for parts to be replaced.

5. ENGINE
If the figure is surrounded by a frame, assembly is required. Only parts given an index
number can be individually ordered. Other parts may be ordered only as parts of sets
and kits. Therefore, parts marked with:
sk are included in the Gasket Set #497070;
& are included in the Carburetor-Gasket Set #497069;
@ are included in the Carburetor Kit #497578.
Notice: Parts numbers may be changed without notice. Please confirm all parts numbers
when placing orders. Some number changes will be indicated within the parts list as
follows:
Part No. List Price Description Dispo.Code

93440 130 Use 94712 C
Here, the part number has been changed from 93440 to 94712. Parts listed as 93440 will
be available as long as supplies last. Parts listed under 94712 will then be supplied.




88HST

1999
Parts List



7, V. X
Body Parts

841010

Top

ﬁﬂ{iggg ...............................................
Transmission

if-_rgg ................................................
Frame-driving

VA= PN e F=HF—ZER e,
Chute & Auger Case

T c N RIVER cooveeneemsnnniiiiiiiiiienenn,

Engine & Handle

ay FD—)DE‘B .........................................

Levers & Links

j— —_ ngB ..................................................

Auger & Blower

%ﬂﬁgg .....................................................

Electrical Equipment & Wiring Diagram

Zf"yﬁgg ...............................................

Stickers

% XE!,E*& ..............................................

Wiring Diagram

....... 8~g

2000. 1



841 EIN=ESS

A—-A239FVIR-

®
@\\48 47

88HST 2000. 1




BAEES 841

EZ

=

RiiNo.| B R B B B & # BB |REHM | PR

1 | K009—0231 FYLavT—=h (F—H) 1

2 | K009—2440 FrvvavZ-=Vih (X—KN) 1

3 | K715—1121 FyvivavT—= TPAW40T 1

4 | K929—4206 SRS (KiE) M10 1

5 | K838—2106 +SEF o b M10 1

6 | K936—1012 D& S12 1

7 | K929—4204 TS (K% M6 1

8 | K901—4015—B| <AL b (SWIT) M6X12 (7T) 1

9 | K081—1911 F—HBBRA TS Y v & 1
10 | K040—1460 Ty¥a 10X 10 1
11 | K084—2031 LIS—EAFT Iy b 1
12 | K081—2040 LIS—HE R b 1
13 | K929—2206 SEHES M10 1
14 | K930—5228 ey 3X20 1
15 | K084—1690 TL—F Y 4 — 1
16 | K901—4018 NARL b M6X25 (7T) 1
17 | K916—1204 Ny b M6 2
18 | K705—1524 2Ty 1
19 | K084—9010 EGFyYavyT—h 1
20 | K824—1240 BEfT Y v 12X50 1
21 | K930—5230 vy 3X25 1
22 | K715—1011 FrvagvIT—Y B45T 1
23 | K936—1015 WD S15 1
24 | K084—9020 AIVRFVY g VAT T 1
25 | K084—1011 B Vs AVESUN 1
26 | K084—2011 EfFIvvav HB03 1
27 | K941—1107 *— (Wii) 5X5X22 1
28 | K902—4033 NALL b M8X20 (7T) 6
29 | K929—2205 RS M8 6
30 | K838—2105 Vg A MS 6
31 | K081—7011 $Y4F259FT74Y T35y b (k) 1
32 | K902—2093 Ay b M8X 110 1
33 | K838—2105 +S5EF v b M8 1
34 | K081—3550 FAL K25 9F74% () 525L 1
35 | K081—3560 YA P27 9F94% () 585L 1
36 | K706—1240 ALY 2
37 | K929—2204 YRS M6 2
38 | K930—0208 alyy 2X16 2
39 | K081—1230 a4 vh (YVIN) 1
40 | K902—4031 ANEEL b M8X12 (7T) 2
41 | K084—1210 VRS 1
42 | K941—1105 F— (Wk) 5X5X15 1
43 | K941—1108 F— (Wi 5X5X25 1
44 | K081—1241 WIRBE TS Oy b ASPFL204 2
45 | K902—2032 NAEIL b M8X16 4
46 | K838—2105 YIS o b M8 4
47 | K084—1220 hyv T 1
48 | K058—1360 SERESE MS8 1
49 | K902—4032—B| ~fFL b (SWF) M8X16 (7T) 1
50 | K831—1329 VAL b RSA-29 (L v F) 1

2000. 1



841 EI=ESB

=A239FV-

@"{\ o

8

4
49

88HST | 2000. 1




HNI=ZES 841

HiiNo.| B & & 5 1 ) £ B # = fE¥ | BiHA | 0T
51 | K901—4016—B| ~MAFNL b (SWIT) M6X16 (7T) 2
52 | K061—9511 Boi 1
53 | K081—7021 Y4 K23 9F94Y T35 9+ () 1
54 | K902—2095 NALEL B M10X120 1

2000. 1



2000. 1

88HST




—

EITEE 841

RAfiNo.| B R B 5 B R & & ] B (E% | REMN| EETK
1 | K084—2251 EFTTL— 4 1
2 | K084—2310 T4 EITIL—4 (k) 1
3 | K084—2320 74 FES7L—24 (B 1
4 | K906—1238 ARATEA L b A1-M10X25 4
5 | K838—2106 YIS o b M10 4
6 | K059—2350 FyYagruay K 2
7 | K929—2206 SEHES M10 6
8 | K916—4206 aY:: bl M10 4
9 | K930—5273 #lvy 3X16 2
10 | K068—2150 rua—3 180X 60X 28 2
11 | K059—2450 i (b 2
12 | K030—0170 WA 2
13 | K938—1724 F=AXRTY v 6204LLU 8
14 | K252—0350 RS 8
15 | K929—4276 P4 10X 25X 3.2t 4
16 | K902—2052—B| AAFEL b (SWH) M10X 20 4
17 | K059—2210 TYAINY — A% (k) 1
18 | K059—2220 TYANYT — 2% (H) 1
19 | K953—2202 FYR=Z T B-PT1/8 2
20 | K902—2052—B| AAHNL b (SWi) M10X20 4
21 | K059—2100 ru—327Fary b 2
22 | K081—0172 TV FTFL—} 2
23 | K902—2053—B| AL b (SWHT) M10X25 2
24 | K084—2610 Hf&E7 — & 1
25 | K828—1112 Tyva 80B-1625 2
26 | K929—3209 YRS () M16 4
27 | K084—2650 7 — LBUTE Y 1
28 | K930—0241 vy 4X32 2
29 | K059—2500 =1 DAY 4 1
30 | K824—1241 JEffE Y 12X 55 2
31 | K929—3207 EEESE () M12 2
32 | K930—0230 vy 3X25 2
33 | K084—2710 A2 5 — 1
34 | K824—1239 JEfFE 12X45 2
35 | K929—3207 ERESE (i) M12 2
36 | K930—0230 #lvy 3X25 2

2000. 1



Va—bkF—FHr—XE

841

2000. 1

Wt 88HST



Ya—beF-—Hr—XE 841

HiiNo.| & BT 5B B & & & # *H fE% | REEN | EE T
1 | K009—2140 Va—btFry S 1
2 | K081—2200 Va—btERyr oy F Y 1
3 | K838—2104 +IHEF v b M6 2
4 | K040—0721 Ya—+t74Y¥Y T,y b 1
5 | K084—6111 va—k 1
6 | K9o6—1222 ABATEAR L b A1-M8X 16 3
7 | K838—2105 +5HF b M8 3
8 | K058—6220 —T7F 4 H—F 1
9 | K901—2015 AEAL b M6X12 4

10 | K838—2104 + SRS v b M6 4
11 | KO05—0701R | *—#H 7 — A (H) 1
12 | K005—0701L *—Hr— 2 (k) 1
13 | K902—2032 NEEL b M8X16 8
14 | K838—2105 ¥ ISy b M8 12
15 | K902—2033 NAEL b M8X 20 4
16 | K040—2670 AHZER 2
17 | K908—1213 +2ZRAFF DR D M4X10 2
18 | K838—2102 +5/Fy b M4 2
19 | K040—1720 v 1
20 | K057—0730 v a2 — FBUTE 1
21 | K009—0880 va— M (F) 1
22 | K002—3040 VIV 1
23 | K061—0850 Va—brYy 7 3
24 | K929—2205 SERES: M8 6
25 | K902—4032—B| A~fAAEL b (SWH) M8X16 (7T) 6
26 | K002—4170 +4 Fw—32 1
27 | K906—1222 ARAFEA L b A1-M8X 16 2
28 | K838—2105 + /Sy b M8 2
29 | K084—4013 A —HTugr—2 1
30 | K902—2052—B| ~AFL b (SWHT) M10X20 4
31 | K005—4530L VUEf&ER (%) 1
32 | K005—4530R | YV VEU{+&R () 1
33 | K084—4520 v (£) 1
34 | K084—4540 VAN )] 1
35 | K902—2032—B| AR b (SWH) M8X16 4
36 | K929—2205 e M8 2
37 | K084—0070 TAYRAF— 1
38 | K901—2016—F| A-KL b (SFWIT) M6X16 1
39 | K916—1204 AAF b M6 1
40 | K084—5010 TAXYH—-F 1

2000. 1



841 I > T+ N2 KILE




I« NCRILE 841

RiiNo.| B 5 & & m OB % % 1 o B |Ridun| EmE Ty
1 | K068—4570 275 HIN— 1
2 | K908—1213 B =AY AR A M4X10 1
3 | K084—1520 AL b 1/4X20UNCX 12 1
4 | K068—4580 RTIHAIN=T Ty b 1
5 | K901—2003 AR b M5X12 1
6 | K926—1203 INF S M5 1
7 | K916—1203 NAETF Y b M5 1
8 | K914—6220 ANEA Y EY RY M4X10 (3f#) 4
9 | K084—2820 I7PHY—FT74 1

10 | K084—2830 IFHY) —F HN— 1
11 | K908—1213 +FZRFF PRI M4X10 2
12 | K916—1202 NEF oy b M4 2
13 | K926—1202 INFES M4 2
14 | K084—2840 AC/iRyxV1 103 1
15 | K084—2850 AC/)Sy*V2 180 1
16 | K084—1272 BY AT — 1
17 | K084—1281 UEL b 1
18 | K838—2105 + /S v b M8 3
19 | K902—2033—B| ~AHRL b (SWH) M8X 20 2
20 | K084—1261 TANRY Y 1
21 | K084—2881 ax24— (GESH) 12X PT3/8 2
22 | K836—1016 b FAMN 416 2
23 | K084—2891 dlk— 2 1
24 | K084—3011 IRANRF — (F) 1
25 | K084—3021 NRENZRT— () 1
26 | K902—2032—B| AAKRL b (SWHH) M8X16 10
27 | K913—3316 77 ORARARL L (B) M8X16 4
28 | K926—1204 INFESE M6 1
29 | K56756—25121| Y FAZY o7 2
30 | K084—1510 TvTy EF N 196437 1
31 | K838—2105 + /Sy b M8 4
32 | K084—1070 ~U b () 1
33 | K084—1060 UM (F) 1
34 | K801—1257 ANAEL b 5/16-24UNF X 20 2
35 | K926—1206 IS S M8 2
36 | K084—1611 LA )| 1
37 | K081—0172 IV FFLr—} 1
38 | K084—1780 vy EE 1
39 | K902—6090 ANAEL k 7/16-20UNF X 20 1
40 | K926—1209 IS S M12 1
41 | K941—2394 F— (i) 1/4X1/4X55 1
42 | K084—8020 ~NJU b H - 1
43 | K929—4204 ERESE (K1) Ms6 4
44 | K901—4016—B| AAEL b (SWfT) M6X16 (7T) 4
45 | K061—9520 Ao~ 1
46 | K901—2015—B| AfAEL b (SWH) M6X12 2
47 | K084—2860 TAVH—H—FY—n 1
48 | K081—0010 va— 74 Y RE¥EEE 1
49 | K084—2110 h—ZXH—F 1
2000. 1

11



O hO—JLER

841

2000.1

88HST

12



AL hO—-LE 841

RiiNo.| B B & 5 m OB & K % L= A% |BOHf | e T
1 | K705—1524 2SY vy 1
2 | K059—3570 Va—bFryTFEFLIN— 1
3 | K084—3930 =¥ Y10—40K s 1 1
4 | K061—3650 VAR AZEI A AR 1
5 | K061—3441B | FEHEIR 2
6 | K005—4540 M s 3 4 M12 1
7 | K806—3205 FA4OavFy b M12 1
8 | K084—0071 Va—bEF74Y 1
9 | K824—2207 AR 6X16 2

10 | K930—0208 < 2X16 2
11 | K084—3003 s LA VI 1
12 | K061—9520 [t 1
13 | K913—3316 77 v IAARLE (B) M8X16 2
14 | K838—2105 + 5 5 b Ms8 2
15 | K058—3110 TLE 1
16 | K908—1214 FEZRGF PR M4X12 1
17 | K901—2015 ANALENL b M6X12 1
18 | K081—3410R LS—EZX b (F) 1
19 | K081—3410L LS—ERZ b (K) 1
20 | K824—2207 gEft ¥ v 6X16 2
21 | K930—0208 I 2X16 2
22 | K838—2104 Y SHEF b M6 1
23 | K059—3520 LS-Hf+&R 1
24 | K081—3400 AL F2FyFLIN— 1
25 | K929—2205 SRS M8 1
26 | K902—4034—B| AAFIL b (SWH) M8X25 (7T) 1
27 | K838—4105 AT L S M8 1
28 | K081—3420 YL F2TyFLI—# 1
29 | K930—0228 =% 3X20 2
30 | K081—3940 =¥ Y10—34K s 1 1
31 | K821—1001 G, HR-10 1
32 | K084—0651 ¥ a— MEEINY F 1
33 | K916—4206 ATy b M10 1
34 | K838—2104 $ Sy b M6 2
35 | K081—0520 t—-7F4BANCYL— 1
36 | K040—1460 7 v ¥ 210X10 2
37 | K808—1106 CSWIt At 14 2
38 | K084—0051 Ya— MY FLEH 1
39 | K913—3316 TIVIURANARLE (B) M8X 16 2
40 | K838—2105 +SEF v b M8 2
41 | K084—0061 Ux—L@TIry b 1
42 | K929—3205 TS (SEh) MS8 1
43 | K902—4033—B| AfENL b (SWHT) M8X20 (7T) 1
44 | K081—9050 Yok — A 1
45 | K910—4118 NARMGIERXY (FE3I%) M8X12 2
46 | K929—4206 TS (KiEF) M10 1
47 | K081—0040 % o — LS 1
48 | K906—1223 ARATEA L b A1-M8X 20 1
49 | K929—2205 SERES: M8 1
50 | K838—2105 H IS v b M8 1

13

. 2000. 1



a2 hO—ILER

841

2000. 1

88HST

14



a2 hbO—JLEE 841
RBiiNo.| B R BB OB & K 1% = Ex |Rauy | Ee T
51 | K081—0340 L /S — Bl 1
52 | K916—4207 AT b Mi12 1
53 | K926—1209 IS RS M12 1
54 | K084—9060 F 2 H 1
55 | K833—1103 2ZN—H LT 34V b 1
56 | K931—1131 AT Y 5X22 2
57 | K913—3308 NARLE (77 Pf) M6X16 4
58 | K084—9071 FERE S 7 — 1
59 | K931—1129 SRV A, 5X18 1
60 | K082—3490 —¥Y12—-50KT 1
61 | K081—0331 2 =7 1
62 | K059—3180 Oy FEEIY 1
63 | K084—3191 FEHET K 1
64 | K929—2205 SERES: M8 1
65 | K930—0217 =% 25X16 1
66 | K916—4205 ANAF b M3 1
67 | K084—3131 FEHL T LT -4 1
68 | K931—1132 AV A, 5X25 1
69 | K931—1117 ALYy 3X25 1
70 | K705—3226 ALY T 1
71 | K084—3310 FERT — 4 1
72 | K824—1217 FEM YV 8X25 1
73 | K081—0530 Z4—-2FANOY L — 1
74 | K929—4204 FHEE (KF) M6 2
75 | K930—0217 ajey 25X16 1
76 | K901—2015—B| SAENL b (SWHH) M6X12 2
77 | K084—3430 LN-%Oa .y F 1
78 | K916—1204 2Y: bl M6 2
79 | K084—9081 A4 v F IR 1
80 | K835—2554 Uy FXY F (LF) M6X1 2
81 | K061—3441 LN—FA%T — 4 1
82 | K061—3441B | PE{EMR 2
83 | K061—3650 INVoYayTL—h 1
84 | K005—4540 M/~ 4 H * M12 2
85 | K806—3205 F4uarFro b M12 1
86 | K084—3101 VIS—T Iy b 1
87 | K901—2068 ANAEL b M10X 100 2
88 | K838—2106 + ISy b M10 2
89 | K084—3111 757y FEYTER 1
90 | K902—2037—B| AfiEL b (SWiT) M8X40 2
91 | K084—3140 TIry FEE 4
92 | K059—3152 CIRVE:: | A ) SN 1
93 | K929—2205 SERES: M8 1
94 | K902—2032—B| ~AAENL b (SWi) M8X16 2
95 | K938—1367 A= ARTY VY 626ZZ 1
96 | K084—0080 AL R T — 4 1
97 | K838—2104 YISy b M6 1
98 | K929—1204 YRS (MNER) M6 1
99 | K929—2205 SRS M8 1
100 | K927—1106 M/~ 3 EE4 MS8&-1L 1
2000. 1

15



a2 bO—JLER

841

2000. 1

16



a2 bO—JLER 841

HiiNo.| B & & B &8 mh % b ] = fEE | REHN | T
101 | K806—6203 UF v b M8 1
102 | K916—6205 INESEF o b M8 (3f#) 1
103 | K901—4020 NALL L M6X35 (7T) 1
104 | K916—1204 NAF Y b M6 1
105 | K084—3581 A—H2 T 9FLIN— 1
106 | K059—3600 A—Ho Ty FLN—H 1
107 | K929—4205 g (KF) M8 1
108 | K902—4035—B| AL b (SWH) M8X30 (7T) 1
109 | K059—3610 JA4XY vy 1

110 | K929—2204 RS M6 1
111 | K930—0208 vy 2X16 1
112 | K084—3591 A—HoF9F74% 1
113 | K824—1296 YA 6X14 1
114 | K930—0208 £ N 2X16 1
115 | K081—3920 ZEY12—40RT H 1
116 | K084—3060 ISFINHE— b 1

17

2000. 1



7 — 488

841

2000. 1

18




+—HE 841

RiiNo.| B R B & B OB £ K % 2 B |RiEN| EmE T
1 | K081—1040 7 i 1
2 | K936—1025 TR ) S25 1
3 | K009—2521 Tav 1
4 | K941—1199 F— (i) 5X5X24 1
5 | K902—4033 ANAEL b M8X20 (7T) 2
6 | K916—4205 ANAT v b M8 2
7 | K009—0420 R7Y VT r—2R 1
8 | K938—1725 R=ARTYVH 6205LLU 1
9 | K838—2105 + ISy b M8 2

10 | K009—0490 AR — 1
11 | K081—4100 Ta7F—)172A2 1
12 | K009—0480 IV ERETFL—} 10X32X3.0 1
13 | K926—1208L | /Y32 EEZ (k) M10L 1
14 | K902—4052L | SNAFEL L (EXY) M10LX20 1
15 | K941—1115 *— (k) TXTX25 1
16 | K902—4032 ANAEL b M8X16 (7T) 1
17 | KO81—2530R | #—# (h) 1
18 | K081—2530L | #*—# (%) 1
19 | K828—1119 Tyva * 4 L X 80B-2525 2
20 | K009—2082 * —# K A 2
21 | K902—4032 ANHEEL b M8X16 (7T) 4
22 | K709—2101 Yr—FNb M8X25 2
23 | K838—2105 H IS b M8 4
24 | K941—1195 F— (WiH) TXT7X24 3
25 | K059—4050 Tk —LEYERY IR 1
26 | K812—1008 I By e WF8 2
27 | K902—2031 ANAEL b M8X12 2
28 | K084—4080 e (BIUE) (R 1
29 | K811—2119 AANY - TC25387 2
30 | K811—2151 TANY—N TC25528 1
31 | K938—1125 R—RF7Y ¥ 6205 4
32 | K936—2052 AL D& R52 1
33 | K929—1213 S (MER) M24 4
34 | K702—3204 R A 1
35 | K941—1186 *— (M) 5X5X45 1
36 | K702—4204 Tt — Lk 1
37 | K009—1031 I — il 1
38 | K936—1025 Lz F 1oL S25 2
39 | K016—0100 #HHEY -2 97 2
40 | K005—3510 ]S 2
41 | K002—4071 ADE 1
42 | K059—4060 D x—LkRy AWz 1
43 | K902—2034—B| ~AAIL b (SWHT) M8X 25 3
44 | K831—1340 VAL b LA-40 2
45 | K005—2560 * —Hihe 2
46 | K938—1725 R=ART7Y V5 6205LLU 2
47 | K906—1222 FBATEAR L b A1-M8X 16 4
48 | K828—1219 Fo4z248— * 4 L ZA70B-2525 2
2000. 1

19



841 FTEIB

88HST 2000. 1

20



| 841

HiiNo.| B R B B w OB & K 1% % | Run | ST
1 | K080—0015 Ny F Y —Hx 1
2 | K084—8411 NyFE 1
3 | K902—2032 ANHEEL b M8X16 4
4 | K838—2105 YISy b M8 4
5 | K006—0020 = VAL D 1
6 | K753—1011 Ny T 28A19L 1
7 | K068—8031 NyF) (=) r—=7n 1
8 | K068—8021 Ny T () r—71n 1
9 | KO68—8041 A -2 —TLK 1

10 | K068—8061 a—F (7—Z#) 1
11 | K084—8440 Ny FYRLIEL b 9
12 | K929—2204 SERES M6 2
13 | K926—1204 INFEES M6 2
14 | K920—1204 Fawtyb M6 2
15 | K084—8461 Ny FUAEXT 1
16 | K902—2032—B| ~AfAFEL b+ (SWit) M8X16 2
17 | K084—8470 Ny T UL SN — 1
18 | K751—1001 T3y AL 9 F JIDECO-1J 1
19 | K901—2016—B| ~FFNL b (SWH) M6X 16 2
20 | K084—8302 AL U= 3R 1
21 | K754—1108 Bl -7 54 24 v FF v v I 1
22 | K754—1108—2| 5l#kRt—77 4 ZA4{ v FF v v 7 1
23 | K081—8310 IVPVRAL yF 1
24 | K752—1004—2| TV PV R4 yF hi— 1
25 | K752—1004K | =¥ v ¥ — 1
26 | K081—0510 BHERLIN— R 4 5 F 1
27 | K908—1205—B| /S X EEfF+F NpFR Y M3X16 2
28 | K081—0381 A —Hv4 v ulift¢l 1
29 | K061—9461 ¥—T7F 14 ZXL vF 1
30 | K908—1205—B| /N3 EEff+EF DR Y M3X 16 4
31 | K084—8650 5 4 bAssly 1
32 | K084—8650—1| #EIk 1
33 | K084—8650—2| 24 v F = VA 1
34 | KO84—8650—3| 4 bL v X 1
35 | K084—8650—4| 74 FSyF Y 1
36 | K838—2106 Y5y b M10 1
37 | K834—0008 Za Xy b 1
38 | K081—0260 AREZ 4 v F (H3—1) 1
39 | K0O81—0260—2| XA v FH/5—ft 1
40 | K084—8660 54 bN—% R 1
41 | K084—8051 3 Y AT B 4 1
42 | K838—2104 Y IEEF b M6 2
43 | K084—8060 A4 9 FTL— b 1
44 | K908—2203 B = A b b i\ M3X10 2
2000. 1

21



841 X7 v HER

v*t 88HST 2000. 1

22



A7y hHE 841

RiiNo.| B 2 & & B OB & K fEf [REHA | ERE T
1 | K081—9150 A F o B (¥ 2— bEER) 1
2 | K084—9120 ZF 9 H (R4 v F) 1
3 | K084—9130 ZF g h (R —E) 1
4 | E000040 H5 L (#8H) 1
5 | E000041 EHIRNL (77 7B 1
6 | S9999—0006 BTN (BRED=DHID) 1
7 | S9999—0007 I~ (H3-) 1
8 | S9999—0009 HIRL(—HE~—2) 1
9 | S9999—0010 E5 (T~ — ) 1
10 25w 71 (88HST) 1
11 A5y A (88fRfE/ S N) 1
12 27 vh (BENO) 1

2000. 1

23



BEREHRE

841

O:WM w (1 L6\ L . £4 LY —\TEE
51o 5 ¥4 ©
34 [1S[o1va
RHEL ¢ b Y —% Aw Y
y—d<s<T | = ‘ e
o $>mw4>*bv, = Y 7 ‘ON=A1
£—3143 — ¥—-F
= 4 %
l—te | ® _
! v 1| C
L
L =
B £ |8 lm/ol
By — "B | A
HTEA4AT L ) ERR A
mm U \
£—ATxA <1} M g Y = \
EE |2 | B |5
T &3
EILTR QP "
=)
“ON—11 £6)Y
yel-n

EZNn<ER £4)rdT

2000. 1

1”"& 88HST

24



IUIY
Engine Parts

Model 196437 Type 1226—E1

Top
:/ U ~/5flr=t|3 ................................................... 26~27
Cylinder
EXRN e TT2 04T RER ceveerennnninnen, 28~29
Piston & Crankshaft
I =X PIN—TR ceereerecncninniniiiiiiuniiiana, 30~31
Crankcase Cover
;\—_ y 7‘ L 5( ‘&B ................................................ 32~33
Carburetor
vTT . ;(/_jj‘_ F‘E‘B ................................. 34~35
Muffler & Air Cleaner
)OIV R —ZER ceeeeeeenmenniiiiiiiiiiiiiiiiiii. 36~37
Recoil Starter
HINF l//"—f':fB ............................................. 38~39
Governor Lever
TTARA —JVER ceeeveeereneiimiiiiiiiiiiiiiiiieii, 40~41
Flywheel
9 V% 7%5 ...................................................... 42~43
Fuel Tank
t}b%_ggg ............................................... 44~45
Starting Motor
Xy RIN—YJHE ceereriniiiiii e 46~47
Kit Parts

25

2000. 1



841 JUHE

BTHEATWAIBRRI 7y TUBRTT,
K EIEB RSB IC Y > THETIEFVLETY,

1019

SRNIVF v b

88HST

26

2000. 1



YL HE 841

RWiNo.| B & & 5 ® & % &K % = fE% | RuEHA | T
1 495656 | ¥V ¥ HAssy. A 4 WA — FHos—{F 1 2.5
2 495657 | Ty v vy 1
3 * 391086 | A4 -V —n 1
5 214015 Y Y v &~y K 1 0.7
7| &% 272163 [PV EANYF - HZXr o b 1
8 498038 | 7'V — ¥ Assy 1
9| &% 27803 | TV —-HF - HAXHr v} 1
10 94621 | A2V a 2
11 280819 |7V —H - Fo—7 1
13 94565 | 2~ 1) = (90mm) 8
13A 94622 | 22 Y 2 (76mm) 1
14 94926 | A& 5 F « F b NodKRU6IZ{H 2
15 94239 | A4 A KLY - TS5 1
92738 AANLFLY - T35 [HAVE-F (7Y 37 b g
(72 F v 2)
33 390420 | xF VU —R b - 3L T 1 1.2
PUToi&% &t :
494553 [SL 7 - Y F—F (Xf#No.42)
34 261055 |4 Vv F—2 - LT 1 1.2
35 65906 | /ST - AT VT (4 VvF—2) 1
36 26828 [T - 2Ty vy (F -2 }) 1
40 221596 (/ST - ) F—F 1
40A 292260 (/ST - ) F—F 1
42 494553 | ST - F—o% 1
45 260933 | #~X v b 2
306 496797 |V v & - =N F 1
307 94930 | LT HE YV Y« X2 4 1
308 224896 | YV HAY F - Hoi— 1
337 802592 | ZA/X—2 - I35 (EHA) 1
354 94726 |+ v b (Y YV H~NyF) 2
552 491986 {753V - Ty vy 1
635 66538 | 28— T35 5 - T— 1
718 230192 |v—4—54 7y 1
729 281396 (A Y -2y o7 1
868 497656 |ISLT AT L - =)L 1
869 211661 |/SAT - — b+ (A Vv F—2) 1 2.8
870 262924 (ST - v — b (ZFU—Z}) 1 2.8
871 261961 | HAF - T vy (ZFU—-Zb) 1 33
231218 (HA K - Ty vy (4 vF—2) 33
978 * 271736 | H A7 v b 1
979 494807 | FANH—F « Hoi— 1
982 94658 | A&V 4 2
1019 497156 | I XL F y b
* FIEBSIZ H#497070 5 X v by MZBEN E T,
@ HIEBRIZH#497069F v TL & - HAr v by MIBGEhET,
@ HIERRIZ #497578F v L 2% o M BEhE T,
O ENERSIZ # 498534/ L T A — /8 —k— L - H#Ar v bty MEEh T T,
M@Ep B THEN DD T v TIVRRKELNET, 2000. 1

27



841 ERbL U527 %7 M

BTHEIATWIBRR T v TUBRTT,
WEISG B M- > THBHIEPDVET T,

88HST 2000. 1

28




EXr2 052092+ 7 ME 841
RHNo| # & & B "B "N

16 495655 |23 v o v 7 b 1 1.8
24 I X T7REEME LUT94388%F —
AHbHETITEXLFEn
17 20530 | K—ARTYVF 1
25 393868 | 'R b vAssy (R &V & —F) 1 13
393869 K Z b v Assy

(0.010" A —s3—44 X)
393879 K Z b v Assy

(0.020" A —s3—H#4 X)
393880 Y X b v Assy

(0.030" A —/s3—H#4 X)
26 303881 |V Zvy b (REVE—F) 1 1.1
299743 Y v Z& g b

(RAVH—F, 7a-LY V)
393882 Y v ZHEy b

(0.010" A —/,¥—H%4 X)
393883 Y vy b

(0.020" A+ —s3—H# 4 X)
393884 Y vty b

(0.030" & —s3—H 4 X)

27 263181 KX bPUEY -1y s 2
28 499302 |[¥X P EY (XA H—F) 1
499303 (¥ A b ¥ (0.005" +—/¥—#4X)
29 390401 |2 T4 o0y F 1 13

390773 (ax T4 v Fa YR
(0.020" 7 v ¥ —H4 X)

30 222113 |ARX 2 F 4270y F - F 4 98 1
31 222114 |gy FRAZ Y2 -0y 1
32 94670 | A2 V) 4 2
46 211689 | H 4 - X7 1
146 94388 | # 4 I - F— 1
219 497037 | HNF - X7 1 1.0
220 221551 | 7w v x 1
404 94742 |V v ¥ ¥ 1
614 93306 |V -y & 1
616 496818 | Hi)xF - 25 o 1
741 263025 | #A43IV0 - ¥F7 1
* FIERRIZ#497070 5 A r o by PIZBEhE 3,
@ EIERIZ#497069F ¥ TV 2 - HA 9 by MZ&ENE T,
Q@ FIERIZ#497578F v+ 7L 2 x 9 MZEEhE T,
O ENEPMIZ #498534/ S T —)S—F—L - HAr 9 by MZ&EhZ S,
g B THEENEEBORT7 v TURRBEELENET, 2000. 1

29



841 U5 Uh—XHN—

847A 5258
425% 1«1@
523A \

RTHELTVWABRR 7y TUBRTT,
KENEBERI IS Y > THERI BV VLETT,

88HST 2000. 1

30




U5 U —2HIN—E 841

BifiNo.| & & 5 E S A ] 23 % (RO | ST
12 % 271701 |25V o —R - HAr v b 1
(0.015” &)
* 271876 |27 v o —Z - HAH y b
(0.005” &)
* 27877 |25V —R - HA¥ g b
(0.009” &)
18 496981 |2 T v o r—R - HI3— 1 0.5
19 295964 | Ty v 1
20 * 391086 | A —J 1 0.6
21 66768 |AANT 4T 1
22 93585 | 2 VY 2 5
89 91488 | 75 & 1
170 94931 | A& vy KL+ (No.liZflF) 1
186 230318 |AB X 2 1
415 94497 | )84 T - 5 1
425 94984 | g & - X2 4 1
441 225218 | A ANT 4N - TFHy b 1
523A 495225 |AANT 4N - T35 1
524 * 281370 [AX4n - v —n 1
525B 495347 | AANT 4N - Fa2—T 1
847A 399901 |Fu—TF F4TAF 4 9P 1
1081 * 270920 OV VY -V —0 1
* FIERSRIZH497070H A r v by MZ&Eh Z T,
@ FIEBRIZ H#497069F v T L & - HAFX v by MIBEhET,
@ FIEBSI3 #497578F x L o % v MZBEh T,
& FIEBERIZ H# 4985345 T A — IS —FK— L - HAF v bty MZBEEFhEd,
Hgh BTEHEN-DHBORT v TURRELYET, 2000. 1

31



841 X+ JLEE

133 104/

975

147 §

276 ©

9508

1868 &

BTHEATWEIBRE 7y TUBRTT,
WEISRR B Y > THERIR P LETY,

32

2000. 1



v JL A28 841

RiiNe.| X % & B ® OB % ] H % | REEN | ERETH
50 214170 (A v F—2 2=k =N F 1 05
51 @€ 272708 (4 v F—2 - HA4 v b 1
51A | @ 272707 |4V F—2 - HA¥ v b 1
54 94616 | ANATHILZ ZZX Y 2 (T—30) 2
93| @ 281346 | %7 b Ty vy 1
94 494383 | 74 FLF -+ b 1
95| @ 94098 | A2V 2
98 495800 | 74 FAT S v AT 45« A2 4 1
104| @ 231789 |7u—tb v -y 1
105 ® 231935 ([ =—FL -23L7T 1
106 @ 231856 [41>vL oy b -v—1} 1
108 224540 {Fa—2 - LT 1
125 690117 |Fx TL 4 1 0.7
127| @ YxlF - T35 (Fv bDADIKF) 1
130 224668 | A1y b - 2T 1
131 497579 | Zv o b - V¥ 7 b 1
133 494381 | ¥y TV & - 7u— b 1
137 | @@ 281165 | 7u—brEYL - H 247 v b 1
141 497043 |Fa—2 - Y% 7 b 1
42| @ 690121 |FxTL & - XN 1

(2811647 v ¥ v &) (XI#No.276)
499111 |F ¥ 7L 4 - J XL (BEER)
(2811647 v ¥ v+ &)
147 | @ 497472 |)S4ay b - Py b 1

186B 230318 | a3 s 4 1
276 | @@ 281164 |7 v+ 1
365 94778 | hF— - A4 v F (E—5) 2
634 | @ 494455 |Fa—rL v T b - —n 1
654 94010 [AAF v b 2
950 94642 | KONV F 4V - 20 o 1
975 495933 | 7u— rEI L 1
987 | @ 281166 |ATw b ¥ Tk - v —N 1

* NSRRI #4970704 2 v by MZBEhE T,

@ PRI #497069F v TV Z - HAT v bey MI&EhET,

@ FIERRIZH497578F v T L 2% o MZE TR T T,

D FIEBMIZ #498534/ S T —sS—sk— - H 2y by MZBEThET,

@R B THRENADDRT v TUBRELVET, 2000. 1

33



841 <v75+«-RX/—H—FKE

161 485@ 534

8
! |
2
i~

RTHEFhTWEABRRI 7y TUBRTT,
KEEBRIE IS Y - > THEAI B VETT,

88HST 2000. 1

34




Y77 «R/—H—FE 841

RHiNo.| B R B 8B B OB &2 ] L % | RN | EE T
11 280819 | 7Y —H - Fa2—7 1
81 222263 | A2V 2 -0y 1
161 497669 |72 —F - R—2 1
163 ® 273101 |72 Y —F - HAry b 2
300 497141 | ZF YV —Z b -7 1
354A 90576 | > v b 1
423 94930 | A7V a2 2
485 280715 | /7 1
534 94777 | 7oV —F - A& VY2 2
613 94054 |V a g - A& ) o 2
883 & 272309 |ZFU—RXb-HAry b 1
968 | X 281357 |72V —F - i 1
% FIERIZH4970705 X r v b2y MZ&EhE T,
@ HERIZH497069F v TV & - HAr vy bty MIBEhZET.
@ FIEPSHIX #497578F x TL & % o M ER I T,
O FNEBGIS # 498534/ T Hh —I—k— L - HAr v by Moz h T,
X BOERMETT,
Hfgch e THEA DR T v TUBRELYET, 2000. 1

35



841 UMW XEZ2—4E

BTBEhTWABER7 v TUEBATY,
KENEBER BT 2 > THETAYX LR T,

88HST 2000. 1

36




)M A2—428 841
RiiNo.| B R & & s OB & f% = A% |RIEEM | ST K
55 693904 | VI A4V ERZ—& - NS DUY 1
56 498144 | 7= /AT ) v 2 Assy 1
57 498144 | 7'~ /AT ) v 2 Assy 1
58 66884 | A& —4% -u—7 1
59 490653 | 7'V v T - 4L ¥ — b 1
60 490652 | A& —4a—7 -2y 37 1
65 94686 | A& Y 4 4
73B 693905 | U —F—F 45 - A2 Y=Y 1
332 693899 | 79 4K4—n-Fy b 1
455 693902 | 73 45k4—N - hyT 1
456 281503 |/SOLTY 2L gy - L — b 1
459 281505 | 9F v b -89 L 1
597 94908 |+ v b 1
608 693900 | YDAV EF - RA4—4% 1
689 263073 |7V Vg Y - ATYUY 1
930 280685 | Y74V - H—F 1
* FIEBIZ #4970705 2 r v b v MZ&ENh TS,
@ FIEBRIZ #497069F v+ L & - HRA 7 v bty MBEhET,
O FIERRIZ#497578F v TL 2% o MZBThZ 4.
O HIEBAIT #498534/ 3L T A — S —F—JL - HAr v by MZBEhE T,
HER B THEN--DBORT v TYRREL) XS, 2000. 1

37



841 H/INFL/S—IF

2128 f

232A

BRTEEATVWIBRRIT v TUBRTT,
KEIEBR I Y - > THEIEFVDETT,

88HST 2000. 1

38




AHNFLIN—E 841
RiiNo.| & # 5 &8 m & B # = (E% | R | e T
98A 493280 | 74 FARAE—F - A2 Y 4 1
209 263212 | HNF - ZAFSY v 1 0.3
212 263049 | Ay bR -Y VY 1
212B 263051 Ay by vy 2
222A 496312 (2 ba—N - TFI 4y b 1
227 496254 | HINF - LIS— 1
231 94620 | AR o 3
232 263020 Vv -2 FY vy 1
232A 262959 Y v o - 2AFY S 1
356 496868 | ALy T -4 X 1
359 92791 (U vy - T o9y 1
373 90576 |+ v b 1
404 94742 | LV - Ty y 1
427 94692 | w4 v - F v b 1
489 231520 | A2V a2 (VT =9 - LIi-) 1
505 231082 |+ b 1
507 398525 |4 v aL—4 1
520 93722 | #—3IF N0 1
546 495659 |7y vty b 1
562 92613 | /3 FLIS— - KL} 1
614 93306 |2v4a ¥V 1
616 496818 | H/5F - 25 v 1 1.0
621 396847 | A by S - A4 v F 1
624 497207 |V v = - LaN— 1
843 280643 | L/S— - 2 Y —F 1
* FIEBSIS #497070H A v by MZEEhE T,
@ ERRIZH497069F v TL Z - HA 7 v by MIEEhE T,
@ EIEBMRIL #497578F v TL A F v MZEENhE T,
@ FIERAMIZ H 4985340/ S L T —)S—F— - HAr v bty biZaEhix 4,
b B THENELDOR TPy TURRELENET, 2000. 1

39



841 754 KA4—IEB

BTHEATWEIBRR 7y TUBKTT,
K ENEBAR I FHCE > THELEFVETY,

88HST 2000. 1

40




771K 1—ILE 841

RiNo.| H® B & 5 g % % K # = fE% | REHL | e T
23A 391983 | 79 4:K4 -0 1 0.7
24 222698 | 794K 4 -0 - F— 1
215 221760 | 7 - Hi4 F 1
304 497142 { Ta - Ny 1
305 94786 | 22V 2 4
333 308811 | ¥Ry b F—9Fa7T 1 0.8
334 94731 | A& Y 2 2
356A 398838 | A by -4 ¥ 1
363 19203 | 79 4K4—0 - T—5 (B%HILB)

474A 393295 | AN FFX—4 1 1.2
493 222034 |VELLEZ - Ty b 1
501 304890 | L ¥ L —4 1 0.1
526 93343 | 22 Y 4 2
726 302134 |V vy - X7 1
727 395405 | 794 K4 =N - H—F 1
732 94625 | A7 Y 4 2
813 393514 {L¥ L —2 -5V 1
851 493880 | r—7T ML -2 —-3F N 1
1046 281412 | 7uune oy s . - 1

* FHERRIZ#4970705 X r v by MIZ&ThE T,

@ HIERGRIZ #497069F vy TV & - HAr v bty MoEdEhid,

@ FIEBaM I #497578F v 7L &2+ o Mz &EhE ¥,

O FIEBERIZ #498534/ S TH — 3 —sh— L - AT v bty MoAdEhEd,

ﬁ@EF\ﬂ"T“IEinf:BO)LIT-yt‘/jU%Bu”m‘:EUi‘d’o 2000. 1

41



841 %2> 7HB

187A

BRTHEhTVWI3RBRRI7Z v JUBRTY,
YEIBR I - -~ THBRLEYVLETT,

674A

182A] 308
&
)| 674B%
182C

918

187

88HST

42

2000. 1



2278 841

RBiiNo.| H W & 8B g 2 4% K fE% | REHA | ST
182A 495664 | 7a—xn Vs - T3 9 b 1
(947332 & - ¥, 94726F » b 2 &)
182C 492990 | 72— - T3 9y b 1
187 296004 | 72—« F—2Z (580mm) 1
187A 497029 |7 a—xn - F—2Z2 (LE) 1
360 94726 | 73 Vv ONAF v b 2
385 94789 | A& Y 4 3
387 496257 |7 a—xh - RV T 1 0.3
464 280203 ([OV v o - v —n 1
601 93053 | k=R -5V 6
674 94733 | 24 v K 2
674A 94627 | A a2 2
674B 94095 | A2 ) 4 2
918 497457 (/3% 12— 4 - K- 2R 1
957 493988 |7 a—xna vy -y T 1
958 399517 | v v bA T - XN T 1 0.2
972 493337 |7 a—xn -2 ¥ 1 0.4
* FIERERIL #497070H 2 r v by MIZEERh T,
@ EIERARIZ #497069F v TV # - HAr v by MBEhE T,
Q@ EIESRII#497578F v TV 2 F v MZEBEh E T,
O NPT #498534 30 TH —iN—F—N - HAr 9 by MIE&ENET, -
HEch B THRENZBOE T v TURBRELYET, 2000. 1

43



841 +tILE—4ZR

BTHINTOIBRET v o TVBRATT,
KENEBR BB Y 12> THRIEYVETT,

88HST 2000. 1

44




LILE—2E 841
RtiNo.| B W & 8 ® & % % & L fE% | RUEH6T | e T8
309 693054 | A& —% - E—4% 1 0.4
310 94003 | AN b 2
311 497608 | 73> v b 1
503 806000 |7V F-Z2F57 97 1
510 497606 | 24 —% - K547 1
513 398003 | A% —- -3 95 1
544 497603 | A4 —% - 7w FaT 1 1.0
697 94773 | NAIEZX 27 Y 4 2
729 225170 (94 ¥ -2y o7 1
783 693059 | X4 —% - X7 1 0.6
797 92278 | AFIF v b 1
797A 693167 | A4 —&#&—3IF N -+ | 1
801 304856 | F34 7 - Fv oo 1
802 497607 |2V F - Fx o7 1
803 97604 | Re—% -V y 1
1051 263080 | V7 —F 1
1090 497605 | 75 -V F—F 1
* EIEBEIS #497070H A r v by MZ&Eh T,
@ HIERIZ#497069F v TL & - HAr 9y bty MZ&EhZT,
@ RS H497578F v T L 2 F v MZBEh E T,
O FIERSIZ #498534/ N L T A —I)S—F— N - HAroy by MIEEhE T,
HEp B THENHOR Ty TUBRELNET, 2000. 1

45



841 Fxv b/N—="

121 ¥+ 7L %%y b
76 9B7O 3@ 147?
1270 108 | 95‘9105® 1047

gl Y

m@ ,

977 ¥v L4 - HARTy by b
276D

| w (O

BRTHEhTVW3BRR 7y TUVBRTT,
KENEBSRII TS H o > TRHARIAPVLETY,

88HST 2000. 1

46




*v b=V 841

RiiNo.| #H & & 5 ® & &% K i -3 E% (RN | ST H
3 * 391086 |4 H-T—N
7| * 272163 |YYUHANYyF - HRAF oy b
9| =* 27803 | SV —¥- -HRr vyt
12| % 271701 |25 oo —Z - HRXH& v b
(0.015" %)
*27876 UV O—R - HRAry b
(0.005" &)
*%27877 U5V o —R - HRAry b
(0.009” J%)
20| * 301086 |4 -¥—n
51 | @@ 272708 |4V F—2 - HRZ7r y b
51A [ @ % 272707 (A ¥ F—2 - HAr v b
93| @ 281346 |V v 7 b Ty vy
95| @ 94098 | XY
14| @ 231789 [ 7u—tevo - ¥y
105 ® 231935 |=—Fr -7
106 @ 23185 |4 ¥F—2 - —h
121 497578 | ¥ v 7L ¥ F v b
127| @ Y lF TS
137 | @@ 281165 | 7u— kKL - HZX 4 v b
142| @ 690121 |[F¥x L4 - /XN
690122 Fx 7V & - ) XN (HEEA)
147 | @ 497472 (/84 oy b - Vg b
163 % 272706 | =72V —F - H#27 o b
276 | @@ 281164 |7y ¥y (7u—LFERYN)
358 497070 | #H 27 v by b
524 | % 281370 |AAN - T —N
634 | @ 494455 |Fa—s ¥ xT b V-0
883 | % 272309 |v7 7 - HRXr v b
977 497069 |F+ 7TV & - HAFr 9 by b
978 | * 271736 | H AT v b (A4 NZA 9 F)
987 | @ 281166 | ATy bAT % T b v —L
1081 270920 (A ANT A NF2—T - —0
1095 498534 [N TA—N—F = HAr v tky b
* FIERGIZ#497070H 27 » by M2 T T,
@ EERRIZH#497069F v TL Z - HAr v bk y MBERET,
@ BRI H497578F v TL 2 F o M ERET,
D FIEBARIL #498534/ 3L TH — /S =k =L - HAr 5 by biEEhE T,
R B TEHENABORT vy TIVBRELVET, 2000. 1

47



good newdays

AR LU BELL RS

Prt

BRAT
BXetvrt
(:E 2 % o

T105-8575 R EBAEX Z #1-6-38
TEL.(03) 3452 - 4311 (Xt %)

25 HRATH IV IREMR

KPL-841

/7



	Return: 
	Body: 
	Engine: 
	Top: 


